CBoOUCTBA CINOXXEeHUA U
YMHOXEHUS

l [lepemecTuTEnbHOE




CBONCTBA CIOXXEeHUA U
YMHOXEHUS

l CodeTaTenbHoe

a- (b- c)=(a-b)- c
IJ

a+(b+c)=(a+b)+c

5+(15+8)=(5+15)+8=28 |} 5-17- 2=(5-2)- 17=170

)




Bblumncnute ygoobHbIM

cnocobom:
1 eapuaHm 2 sapuaHm
1) 15+7+23 1) 16+9+14
2) 22+16+38 2) 65+17+15
3) 49+27+21 3) 39+28+11
NS . 5.2 4) 2-47-5
5) 33-.25-4 5) 4-44-25
)

6) 5067 -2 6



N3BeCTHO, 4YTO b+c=21
anauTe 3Ha4YeHne BblipaXkeHu

2 sapuaHm

1) c+(b+7)
2) (b+12)+c
3) (c+9)+b



acrnpegennTernbHoe CBOUCTB

3adaya

Hangem nnowagb npamMoyronbHuka ABCD,
COCTaBJ1IEHHOIo N3 ABYX NPAMOYrofbHUKOB
OANHAKOBOW LLUNPUHGI.

B

1 crioco®
S=(5+3)-4=8-4=32cm* ,
2 cnocob
5.4+3-4=20+12=32CM?,



PacnpenenntensHoe CBOUCTBO

[1ns ntoObIx Yncen a, b ¢ BbINONMHAETCS:

(a+b)-c = a-c+b-c

17-12+43-12 = (17+43) -12=60-12=720
(a-b)-c = a-c-b-c

(120-2) -3 = 120-3-2-3=360-6=354



